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Actual test circuit with C18, C9 in series with 51K resistor; C18 to 100pF,

Test 1:
+ Ripple of +15V:

RIGOL STOP

«l

Upp(1) =29 .6mV

(!ilﬂ 18.8mV E]

Umax(1) =12 .8mV

Time 5.006

F B8 9.60uY

us o

+15V dynamic response (25%~75% load (15V/200mA), 100Hz frequency):

RIGOL STOP

Umax(1) =72 .8mV
Time S5.008ms o

fF 0 0.0
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Test 2:

-15Vripple:

RIGOL STOP (e .- AAPABTA A ~~A F ) 8.88uY
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Upp(1) =29 .6mV Umax(1) =14 .4ml)

[LH 1+ BLMEIVEE] Time 1.8688us ©»388.4us

-15V dynamic response (rated input 220Vac, 25%~75% load (15V/200mA), 100Hz

frequency):

RIGOL STOF F B . BBl

Lmaz(11= ~128ml)

[EEFET  188mit = Time 18.88ms OHI22.4us



